Name : Single Variable
Chapter : Linear Inequations

Grade : ICSE Grade VIl

EduSahara™ Assignment License : Non Commercial Use

. Solve the inequation(3x+27)<0,x€Z
(i) {-8,-7,-6,-5,-4,...} (ii) {-9,-8,-7,-6,-5,...} (iii) {-10,-11,-12,-13,-14,...} (iv) {-9,-10,-11,-12,-13,...}

. Solve the inequation(—6x+6)>0,x€Z

() {2,3,4,5,6,...} (i) {0,-1,-2,-3,-4,...} (iii)) {1,2,3,4,5,...} (iv) {1,0,-1,-2,-3,...}

. Solve the inequation(3x—-12)=<0,x€Z
(i) {3,2,1,0,-1,...}3 (i) {5,6,7,8,9,...} (iii)) {4,3,2,1,0,...} (iv) {4,5,6,7,8,...}

. Solve the inequation(9x—-54)=0,x€Z
(i) {6,5,4,3,2,...} (i) {7,8,9,10,11,...} (i) {5,4,3,2,1,...} (iv) {6,7,8,9,10,...}

Find the solution set for the given inequation
" (8x—40)<0,where the replacement set is{7,6,5,4,3,2,1}

(i) {4,3,2,1} (i) {5.6,7,8,9} (i) {6,7,8,9,10} (iv) {4,3,2,1,0} (v) {5.4,3,2,1}

Find the solution set for the given inequation
" (4x+36)>0,where the replacement set is{-11,-10,-9,-8,-7,-6,-5}

() {-10,-11,-12,-13,-14} (i) {-9,-10,-11,-12,-13} (iii) {-8,-7,-6,-5} (iv) {-9,-8,-7,-6,-5} (v) {-8,-7,-6,-5,-4}

Find the solution set for the given inequation
" (-=5x—25)=0,where the replacement set is{-8,-7,-6,-5,-4,-3,-2}

(i) {-5,-4,-3,-2,-1} (ii) {-5,-4,-3,-2} (iii) {-5,-6,-7,-8,-9} (iv) {-4,-3,-2,-1,0} (v) {-6,-7,-8,-9,-10}

Find the solution set for the given inequation
" (—x+3)=0,where the replacement set is{6,5,4,3,2,1,0}

(i) {4,5,6,7,8} (i) {3,4,5,6,7} (ii) {3,2,1,0} (iv) {2,1,0,-1,-2} (v) {3,2,1,0,-1}



9. Identify the solution for the inequality (-9x—-72)<0,x€Z
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10. Identify the solution for the inequality (4x—24)>0,x€Z
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11. Identify the solution for the inequality (-6x—48)=<0,x€Z
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12. Identify the solution for the inequality (-8x+24)=0,x€Z
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13. Which of the following is an inequation?

(i) 6 (ii) (4x+2) (iii) (5x+8)=0 (iv) (=5x—-3)=0,x€Z

14. Which of the following is not an inequation?
(i) (=8x)>3,x€Z (i) (9x+6)=(—-2),x€Z (iii) (-6x+8)=(—-5) (iv) (=7x=-7)<(-7),x€EZ

(v) (2x—-1)=(-8),x€Z

15. Which of the following is not an inequation?
(i) (3x+1)>(6x+2),x€Z (ii) (3x+2)=(—x+7),x€Z (iii)) (x+8)=(—x+4),x€Z (iv) (9x+1)=(x-8)

(v) (2x+7)<(6Xx—-8),xEZ



16.

17.

18.

19.

20.

21.

22.

23.

24.

Which of the following inequations is the same as
(=7x)<(—3x+5),xeZ

(i) (x+5)>(—-3x+5),x€Z (ii) (-7x)<(5x+10),x€Z (iii) (=7x)>(5x+10),xEZ

(iv) (x+5)<(-3x+5),x€Z (v) (x+5)<(5x+10),xEZ

Which of the following inequations is the same as
(6x+4)<(—4x—6),xEZ

(i) 3x<(—=7x—-10),x€Z (ii) 3x>(—4x—-6),x€Z (iii) 3x<(—-4x—-6),x€Z (iv) (6x+4)>(—-7x-10),x€Z

(v) (6x+4)<(—-7x-10),xEZ

Which of the following inequations is the same as
(8x—1)=<(3x—-4),xc€Z

(i) (x—10)>(3x—4),x€Z (ii) (8x—-1)<(—-4x-13),x€Z (iii) (x—10)<(3x—-4),x€Z

(iv) (8x—1)>(—4x—-13),x€Z (v) (x—10)=<(—-4x-13),x€Z

Which of the following inequations is the same as
(=7x+3)=<(5x+1),x€Z

(i) (=7x+3)<(7x+5),x€Z (ii) (-5x+7)<(5x+1),x€Z (iii) (-7x+3)>(7x+5),x€Z

(iv) (=5x+7)=<(7x+5),x€Z (v) (=5x+7)>(5x+1),xE€Z

Which of the following inequations is the same as
(8x—9)>(7x-1),x€Z

(i) (11x—-13)>(10x-5),x€Z (ii) (8x—9)>(10x—-5),x€Z (iii)) (11x—-13)<(7x-1),x€Z

(iv) (8x—9)<(10x-5),x€Z (v) (11x-13)>(7x-1),x€Z

Which of the following inequations is the same as
(=4x+5)>(3x+3),xEZ

(i) (=5x+10)<(3x+3),x€Z (ii) (=4x+5)<(2x+8),x€Z (iii) (=5x+10)>(2x+8),xEZ

(iv) (=5x+10)>(3x+3),x€Z (v) (—4x+5)>(2x+8),xEZ

Which of the following inequations is the same as
(-7x—4)=(-2x—-6),x€Z

(i) (=7x—=4)>(3x+2),x€Z (ii) (=7x—-4)<(3x+2),x€Z (iii) (-2x+4)>(-2x—-6),xEZ

(iv) (—=2x+4)=(3x+2),x€EZ (v) (—2x+4)<(—-2x—-6),xEZ

Which of the following inequations is the same as
(-8x—9)=(x—6),x€Z

(i) (-8x—9)>(8x-5),x€Z (ii) (-x—8)=(8x-5),x€Z (iii) (-x—8)>(x—6),xEZ

(iv) (-8x—9)<(8x-5),x€Z (v) (—x—-8)<(x—6),x€Z

Which of the following inequations is the same as
(6x—9)<(4x—-9),x€Z

(i) (=24x+36)>(—-16x+36),x€Z (ii) (—24x+36)<(4x-9),xEZ (iii)

(iv) (—24x+36)>(4x-9),x€Z (v) (6x—9)<(—-16x+36),xEZ

(6x—9)>(—16x+36),xEZ



25.

26.

27.

28.

29.

30.

31.

32.

33.

Which of the following inequations is the same as
(2x-9)=(-6x-9),x€Z

(i)
(iv)

(—-8x+36)>(—6Xx—9),xE€Z

(—8x+36)<(—6x—9),x€Z

(ii)
(v)

(2x—9)<(24x+36),x€Z (iii)

(—8x+36)=(24x+36),xE€Z

Which of the following inequations is the same as
(-6x—5)>(8x+3),x€Z

(i)
(iv)

(-6x—-5)<(—-32x—-12),xEZ

(24x+20)<(—-32x-12),xEZ

(i)

(24x+20)<(8x+3),xEZ (iii)

(v) (24x+20)>(8x+3),xEZ

Which of the following inequations is the same as
(7x+1)=(—x—-8),x€Z

(i)
(iv)

(=21x-3)>(—x—-8),x€Z (

i) (

(2x—9)>(24x+36),xEZ

(-6x—=5)>(—-32x-12),x€Z

7x+1)>(3x+24),x€Z (iii) (-21x—3)<(—x—8),x€Z

(7x+1)<(3x+24),x€Z (v) (-21x—-3)=<(3x+24),xEZ

Which of the following inequations is not the same as
(3x+8)<(—8x+4),x€Z

(i)
(iv)

(-6x+10)<(—-17x+6),xEZ

(i)

(4x+2)<(—-14x+2),x€Z (iii)

(8x+4)<(—3x),x€Z (v) (4x+2)<(—7x-2),xEZ

Which of the following inequations is not the same as
(-7x—8)<(x—-9),x€2

(i)
(iv)

(-3x+6)<(—14x+2),xEZ

(—=9x)<(—x-1),x€Z (ii) (=15x—-7)<(—-7x-8),x€Z (iii) (-13x+1)<(-5x),xEZ

(-16x—-14)<(—8x—15),xeZ

(v) (-13x+1)<(—-7x—-8),x€”Z

Which of the following inequations is not the same as
(-3x—-2)=<(8x+1),x€Z

(i)
(iv)

(x+6)=<(7x+6),x€Z (ii) (6x+3)=<(17x+6),xEZ

(—4x+3)=<(7x+6),XEZ (V)

(-6x—4)=<(5x-1),x€Z

Which of the following inequations is not the same as
(-3x—9)=<(-5x-5),x€Z

(i)
(V)

(i) (x+6)=(12x+9),x€Z

(2x—17)=<(-13),x€Z (ii) (3x—4)=x,x€EZ (iii) (4x—-14)=<(2x—-10),x€Z (iv) (5x—7)=<(3x-3),x€Z

(2x—17)=<(3x-3),x€Z

Which of the following inequations is not the same as
(-5x-9)>(9x+1),x€Z

(i)
(iv)

(=9x—3)>(5x+7),x€Z (ii)

(-11x-3)>(3x+7),x€Z

(_
(v)

9x—12)>(5x-2),x€Z (iii) (-11)>(14x-1),xE€Z

(-9x-12)>(3x+7),x€EZ

Which of the following inequations is not the same as
(=7x+7)>(-9x-1),x€Z

(i)
(iv)

(=5x+12)>(—-7x+4),xEZ

(-14x+12)>(—13x),x€2Z

(ii)
(v)

(—=14x+12)>(—16x+4),x€Z

(—14x+2)>(—16x—6),xEZ

(iii)

(-11x+8)>(—13x),x€Z



34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

Which of the following inequations is not the same as
(-6x+4)=(6Xx+9),xEZ

(i) (2x+3)=9x,x€Z (ii) (=3x=5)=9x,x€Z (iii) (=15x+10)=(—-3x+15),x€Z (iv) 9=(12x+14),xE€Z

(v) (2x+3)=(14x+8),xEZ

Which of the following inequations is not the same as
(=2x=5)=(—-8x+3),x€Z

(i) (4x=1)=(-2x+7),x€Z (ii) (7Tx=9)=(x-1),x€Z (iii) (4x-1)=(—-x+1),xEZ

(iv) (2x+4)=(—-4x+12),x€Z (v) (5x—7)=(—x+1),xEZ

The solution set of the inequality (—x+3)<(—-8x+2),xEZis

(i) {3.4,5,6,7,...} (ii) {0,1,2,3,4,...} (i) {-1,-2,-3,-4,-5,...} (iv) {0,-1,-2,-3,-4,...}

The solution set of the inequality 3x>(7x-3),x€Zis

() {0,-1,-2,-3,-4,...} (i) {1,2,3,4,5,...} (iii) {1,0,-1,-2,-3,...}

The solution set of the inequality (x+2)=<(9x+5),xEZis

() {0,1,2,3,4,...} (i) {-1,-2,-3,-4,-5,...}

The solution set of the inequality 3x=(—6x—4),x€Zis
(i) {0,-1,-2,-3,-4,...} (i) {0,1,2,3,4,...} (i) {-1,-2,-3,-4,-5,...}

The solution set of the inequality (2x+9)<(—6),xEZis
(i) {-7,-6,-5,-4,-3,...} (ii) {-8,-9,-10,-11,-12,...} (iii) {1,2,3,4,5,...} (iv) {-3,-4,-5,-6,-7,...}

The solution set of the inequality (9x—2)>(—6),xEZis
(i) {0,1,2,3,4,...} (i) {-1,-2,-3,-4,-5,...} (i) {1,2,3,4,5,...} (iv) {0,-1,-2,-3,-4,...}

The solution set of the inequality (x—4)=<(—-6),x€EZis
() {2.3,.4,5,6,...} (i) {-2,-1,0,1,2,...} (i) {-1,0,1,2,3,...} (iv) {-2,-3,-4,-5,-6,...}

The solution set of the inequality (8 x+5)=(—-7),xEZis
(i) {-2,-3,-4,-5,-6,...} (i) {-1,0,1,2,3,...} (iii) {0,-1,-2,-3,-4,...}

The simplified form of the inequality (9x+3)<(—7),xEZis

. B 11 11 . 10
(i) x=(-1),x€Z (ii) )(>(—-9 ), xEZ (iii) x<(—-9 ), XEZ (iv) x=(-1),x€Z (V) x<(—-9

The simplified form of the inequality (=2x+7)>(-5),x€Zis

. 11 B 13 11 ) 13
(i) x= > LXEZ (i) x> 3 L XEZ (i) x= > XEZ (iv) x<6,xEZ (v) x< 5 XEZ

The simplified form of the inequality (—4x—6)=<3,xEZis

), XEZ

(i) Xs(—-z),xez (i) x>(=2),x€Z (iii) x<(-2),x€Z (iv) xz(—;),xez (v) xa(—i),xEZ



47.

48.

49.

50.

51.

52.

The simplified form of the inequality (=2x—-2)=6,xEZis

(i) x<(—;),x€Z (ii) Xz(—z),xez (iii) x>(—;),x€Z (iv) xs(—g),xez (v) x=(-4),xeZz

The simplified form of the inequality (-=9x+8)<(-7x-2),xEZis

. 9 B 9 . 11 11

(i) XS-Z,XEZ (ii) x>5,x€Z (iii) Xz-z,xez (iv) )(>-2 JXEZ (V) )(<-2 JXEZ

The simplified form of the inequality (3x+7)>(2x+2),xEZis

(i) x>(—6),x€Z (i) x=(—4),x€Z (iii) x=(—-4),x€Z (iv) x<(—-6),x€Z (v) x>(-5),x€Z

The simplified form of the inequality(—x+1)<(—8x+5),x€Zis

3 5 5 3 4
(i) x>-7,x€Z (i) x27,x€Z (iii) Xs-7,x€Z (iv) x<-7,x€Z (v) xs-7,x€Z

The simplified form of the inequality (8 x+9)=(—-6x—4),xEZis

(i) x<(=1),x€zZ ({ii) xz(—s),xez (iii) xz(—ii),xez (iv) xs(—s),xez (v) x>(-1),x€2

Which of the following figures represents the solution set

{0,1,2,3,4,5,...}
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Which of the following figures represents the solution set
" {-9,-10,-11,-12,-13,-14,...}
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Which of the following figures represents the solution set
" {5,6,7,8,9,10,...}
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Which of the following figures represents the solution set
" {-9,-8,-7,-6,-5,-4,...}
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56. Which of the following statements are true?

a) Dividing same negative number on both sides does not change the inequality

b) Subtracting same number on both sides does not change the inequality

c) Dividing same positive number on both sides does not change the inequality

d) Multiplying same negative number on both sides does not change the inequality
e) Multiplying same positive number on both sides does not change the inequality
f) Adding same number on both sides does not change the inequality

(i) {afb} (i) {a,b} (i) {d,c} (iv) {a.d,e} (v) {b,cef}

57 Which of the following inequations is not the same as
" (-5x—4)<(7x-8),x€EZ

(i) (10x+8)>(—14x+16),x€Z (ii) (10x+8)<(—21x+24),x€Z (iii) (-5x—4)<(7x-8),xEZ
(iv) (15x+12)>(—-21x+24),x€Z (v) (—30x—-24)<(42x—48),xEZ
Which of the following inequations is not the same as

58.
(7x+5)<(—x+4),x€2Z

(i) (=21x-15)=(3x-12),x€Z (ii) (=21x—-15)=(—x+4),x€Z (iii) (7x+5)=(—x+4),x€Z
(iv) (-28x—20)=(4x—-16),xEZ (v) (14x+10)=<(—-2x+8),xEZ
Which of the following inequations is not the same as

>9. Ax>(—-2x+2),x€EZ

(i) 36x>(10x—-10),x€Z (ii) (—20x)<(10x—10),xE€Z (iii) 28x>(—14x+14),xE€2Z

(iv) 32x>(—-16x+16),x€Z (v) 36x>(—18x+18),xEZ

60 Which of the following inequations is not the same as
" (=3x-9)=(-8x-1),xEZ

(i) (12x+36)=(—-40x-5),x€Z (ii) (18x+54)=<(48x+6),x€Z (iii) (3x+9)=(8x+1),xEZ

(iv) (=15x—45)=(—40x-5),x€Z (v) (12x+36)=<(32x+4),xEZ



61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

Find the solution set of given inequality
(-3x+9)<0,xeZ

(i) {4,56,7,...} (i) {3,2,1,0,...} (i) {2,1,0,-1,...} (iv) {3.4,5,6,...}

Find the solution set of given inequality
(4x+4)>0,x€Z

(i {-1,-2,-3,-4,...} (i) {-1,0,1,2,...} (iii) {0,1,2,3,...} (iv) {-2,-3,-4,-5,...}

Find the solution set of given inequality
(-9x+9)=<0,x€Z

() {0,-1,-2,-3,...}3 (i) {2,3,4,5,...} (iii) {1,0,-1,-2,...} (iv) {1,2,3,4,...}

Find the solution set of given inequality
(-9x—-36)=0,x€Z

(i) {-5,-6,-7,-8,...} (i) {-4,-5,-6,-7,...} (i) {-4,-3,-2,-1,...} (iv) {-3,-2,-1,0,...}

Find the solution set of (—1)<(—-5x—-5)<24 ,x€Z
i)y {-1,-2,-3,-4,-5} (i) {1,0,-1,-2,-3} (ii) {0,-1,-2,-3,-4} (iv) {-2,-3,-4,-5,-6} (v) {-3,-4,-5,-6,-7}

Find the solution set of 2>(-3x+3)>(—-15),x€Z
(i) {2,3,4,5,6} (i) {1,2,3,4,5} (i) {3,4,5,6,7} (iv) {0,1,2,3,4} (v) {-1,0,1,2,3}

Find the solution set of 7<(x+9) <16 ,xEZ
(i) {0111213141516171819} (ii) {_31_21_110111213141516} (iii) {_41_31_21_1701112131415} (iv) {_1101112131475161718}
(v) {-2,-1,0,1,2,3,4,5,6,7}

Find the solution set of 10 =(3x—-4)=(—-13),xEZ
(i) {6,5,4,3,2,1,0,-1} (ii) {5.,4,3,2,1,0,-1,-2} (iii) {3,2,1,0,-1,-2,-3,-4} (iv) {4,3,2,1,0,-1,-2,-3}
(V) {211101_11_21_37_41_5}

Find the solution set of (—=8)<(—-8x+2)<20,xEZ
(i) {-1,-2,-3,-4} (i) {2,1,0,-1} (iii) {1,0,-1,-2} (iv) {0,-1,-2,-3} (v) {3,2,1,0}

Find the solution set of 1 >(—-3x—3)=(—-16),xEZ
(i) {-1,0,1,2,3,4} (ii) {0,1,2,3,4,5} (i) {-3,-2,-1,0,1,2} (iv) {1,2,3,4,5,6} (v) {-2,-1,0,1,2,3}

Find the solution set of 4 =(x—-2)<13,x€Z
(i) {7.8,9,10,11,12,13,14,15} (i) {6,7,8,9,10,11,12,13,14} (iii)) {8,9,10,11,12,13,14,15,16}
(iv) {4,5,6,7,8,9,10,11,12} (v) {5,6,7,8,9,10,11,12,13}

Find the solution set of 15=(9x+1)>(—-14),x€Z
(i) {2,1,0} (i) {-1,-2,-3} (i) {1,0,-1} (iv) {3,2,1} (v) {0O,-1,-2}



73. Which of the following inequations represent the shaded region?

e

= b= = = U= ov =~ oo+ W

T
" L

y

(i) (y—=2)<0 (i) (y—8)<0 (iii) (y+6)<0 (iv) (y+7)<0 (v) (y+3)<0

74. Which of the following inequations represent the shaded region?

et

= B = = U= ov - == oo~ o

4

(i) (y+6)>0 (i) (y+8)=>0 (i) (y+1)=>0 (iv) (y=5)>0 (v) y=>0



75. Which of the following inequations represent the shaded region?

e

—= R o o U o - o o

1
194
TIT
=
T
T
E =)
TII
I:\J
=
i
s
Fo
N
h
=

A

~

L

-

5]

L T o T e T =
o

s ]

4

(i) (y+1)=0 (i) (y=2)=0 (i) (y=5)=0 (iv) (y+6)=<0 (v) (y—1)=0

76. Which of the following inequations represent the shaded region?

et

= B = = U= ov - == oo~ o

4

(i) (y=2)=0 (i) (y—4)=0 (iii)) (y—8)=0 (iv) (y+8)=0



77. Which of the following inequations represent the shaded region?

e
Suy

= b= = = U= ov =~ oo+ W

L

(23]

-

5]

4

(i) (x—4)<0 (ii) (x+5)<0 (iii) (x+8)<0 (iv) (x—8)<0

78. Which of the following inequations represent the shaded region?
/]

et

= B = = U= ov - == oo~ o

4 3

(i) (x=7)=>0 (ii) (x+9)>0 (iii) (x—=1)>0 (iv) (x—8)>0 (v)

(x—=5)>0



79. Which of the following inequations represent the shaded region?
/]

L

= R s b b o~ o W

kJ

T
Ad

R
s

iEs L iy
[ %41

on

~J

2]

4]

Y ¥

(i) (x=1)=<0 (ii)) (x=3)=<0 (iii)) (x—6)=<0 (iv) (x+4)=<0 (v) (x+9)=<0

80. Which of the following inequations represent the shaded region?
A

e

= B (= = U1 ov = ==+ oo+ w

A

'S

Ln

(=]

-

5]

= o]
s ]

4 4

(i) (x+2)=0 (i) x=0 (iii) (x+9)=0 (iv) (x+1)=0 (v) (x—4)=0



Assignment Key

1) (iii) 2) (ii) 3) (iii) 4) (iv) 5) (i) 6) (iii)
7) (ii) 8) (iii) 9) (i) 10) (ii) 11) (iii) 12) (i)
13) (iv) 14) (iii) 15) (iv) 16) (v) 17) (i) 18) (v)
19) (iv) 20) (i) 21) (iii) 22) (iv) 23) (ii) 24) (i)
25) (v) 26) (iv) 27) (v) 28) (ii) 29) (v) 30) (i)
31) (v) 32) (v) 33) (iv) 34) (i) 35) (iii) 36) (iii)
37) (i) 38) (i) 39) (ii) 40) (ii) 41) (i) 42) (iv)
43) (ii) 44) (v) 45) (iv) 46) (v) 47) (v) 48) (ii)
49) (v) 50) (v) 51) (iii) 52) (ii) 53) (i) 54) (ii)
55) (iv) 56) (v) 57) (ii) 58) (ii) 59) (i) 60) (i)
61) (i) 62) (iii) 63) (iv) 64) (ii) 65) (i) 66) (ii)
67) (v) 68) (iv) 69) (iii) 70) (i) 71) (ii) 72) (iii)
73) (iii) 74) (i) 75) (v) 76) (iv) 77) (iv) 78) (v)
79) (v) 80) (iii)
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